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1. Find the equation of the straight line

passing through (-4,5) and cutting off equal

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HB6p1OSWXCaq


and non-zero intercepts on the co-ordinate

axes.

Watch Video Solution

2. Find the equation of the straight line

perpendicular to the line 5x-3y+1=0 and

passing through the point (4,-3).

Watch Video Solution

https://dl.doubtnut.com/l/_HB6p1OSWXCaq
https://dl.doubtnut.com/l/_gH8WJuhRjqfI


3. Find the third vertex of  , if two of its

vertices are A (-2,3) , B(4,5) and its centroid is

O(1,2) .

Watch Video Solution

ΔABC

4. Find the angle between the planes

 and 

Watch Video Solution

x + 2y + 2z − 5 = 0

3x + 3y + 2z − 8 = 0

https://dl.doubtnut.com/l/_uRG46L344XY9
https://dl.doubtnut.com/l/_I2gYpi11aBHu
https://dl.doubtnut.com/l/_VIB7ksz1bf3E


5. Compute .

Watch Video Solution

lim
x → a

(a ≠ 0)
tan(x − a)

x2 − a2

6. Compute 

Watch Video Solution

lim
x → 0

( )
ex − 1

√1 + x − 1

7. Find the derivative of

.

Watch Video Solution

y = √2x − 3 + √7 − 3x

https://dl.doubtnut.com/l/_VIB7ksz1bf3E
https://dl.doubtnut.com/l/_Dg07WZKzOGrB
https://dl.doubtnut.com/l/_mwv0czDhLm5m


8. Find the derivative of 

Watch Video Solution

y = sin− 1( )
2x

1 + x2

9. If  then find  and dy

when .

Watch Video Solution

y = x2 + 3x + 6 △ y

x = 10, △ x = 0.01

https://dl.doubtnut.com/l/_mwv0czDhLm5m
https://dl.doubtnut.com/l/_XtDJa5Gnht6O
https://dl.doubtnut.com/l/_GlbaR2MW8u73


10. Verify Rolle's theorem for the function

on [-3,3]

Watch Video Solution

y = f(x) = x2 + 4

11. A(5,3) and B(3,-2) are 2 fixed points. Find the

equation of locus of P, so that the area of

 is 9sq. Units.

Watch Video Solution

△ PAB

https://dl.doubtnut.com/l/_gt5sE8E82NGE
https://dl.doubtnut.com/l/_ZANb3SpEm14B


12. When the axes are rotated through an

angle , the transformed equation of a

curve is . Find the

original equation of the curve.

Watch Video Solution

45∘

17x2 − 16xy + 17y2 = 225

13. A straight line with slope 1 passes through

Q(-3,5) and meets the straight line x+y-6=0 at P.

Find the distance PQ.

Watch Video Solution

https://dl.doubtnut.com/l/_LFZFBjjGPt3g
https://dl.doubtnut.com/l/_bU071VjGpV8y


14. If f is given by

 is a continuous

function on R, then find k .

Watch Video Solution

f(x) = {
k2x − k if x ≥ 1

2 if x < 1

15. Find the derivative of  from the first

principle.

Watch Video Solution

x3

https://dl.doubtnut.com/l/_bU071VjGpV8y
https://dl.doubtnut.com/l/_t8KMw2jjHvzy
https://dl.doubtnut.com/l/_CWoqqDUuS7Bh
https://dl.doubtnut.com/l/_guYusKLq0j6v


16. A particle is moving along a line according

 where s is

measured in meters and t is measured in

seconds. Find the velocity and acceleration at

time t. At what time the acceleration is zero.

Watch Video Solution

s = f(t) = 4t3 − 3t2 + 5t − 1

17. Determine the intervals in which

 is

stricly increasing and decreasing.

Watch Video Solution

f(x) = + 18x, ∀x ∈ R − {0}
2

(x − 1)

https://dl.doubtnut.com/l/_guYusKLq0j6v
https://dl.doubtnut.com/l/_yHcLXy3g8Vb4


18. Find the orthocentre of the triangle whose

sides are

Watch Video Solution

7x + y − 10 = 0, x − 2y + 5 = 0, x + y + 2 = 0

19. Prove that the line  and

the pair of lines

 form an

lx + my + n = 0

(lx + my)
2

− 3(mx − ly)
2

= 0

https://dl.doubtnut.com/l/_yHcLXy3g8Vb4
https://dl.doubtnut.com/l/_LlzQc5lLcedi
https://dl.doubtnut.com/l/_IGhr3QmSIohS


equilateral triangle and its area is

Watch Video Solution

n2

√3(l2 + m2)

20. Find the value if k , if the lines joining the

origin with the points of intersection of the

curve  and

the x + 2y = k are mutually perpendicular .

Watch Video Solution

2x2 − 2xy + 3y2 + 2x − y − 1 = 0

https://dl.doubtnut.com/l/_IGhr3QmSIohS
https://dl.doubtnut.com/l/_8s8RbdBAVtLl


21. Find the angle between the lines, whose

direction cosines are given by the equation

 and .

Watch Video Solution

3l + m + 5n = 0 6mn − 2nl + 5lm = 0

22. Find the derivative of .

Watch Video Solution

(sin x)log x + xsin x

https://dl.doubtnut.com/l/_UvuVFbpSFSgW
https://dl.doubtnut.com/l/_8OcxNpSKtcwK


23. IF the tangent at a point on the curve

 intersects the coordinate

axes in A and B then show that the length AB

is a constant.

Watch Video Solution

x2 / 3 + y2 / 3 = a2 / 3

24. A window is in the shape of a rectangle

surmounted by a semi-circle. If the perimeter

of the window be 20 feet then find the

maximum area.

Watch Video Solution

https://dl.doubtnut.com/l/_Wh6af5aLi8YO
https://dl.doubtnut.com/l/_so1X3VNqvpqJ


Watch Video Solution

https://dl.doubtnut.com/l/_so1X3VNqvpqJ

